

City of Torrington

Department of Police Services





Board of Safety Report - November 2022 Statistics for September 2022

2	Calls for S	<u>Service</u>		Administrative Calls	
Motor Vehicle Accidents	117	Assist Other Agencies	46	Follow Up Investigations	131
Robbery	0	Civilian Requests	172	Fleet Maintenance	21
Larceny	31	Harassment / Harrassing Calls	17	Report Writing	79
Burglary	2	Traffic Offense	412	Extra Patrols	501
Distrubance / Disorderly Conduct	23	Warrant Arrests / Attempts	48	Park and Walk	640
Mentally Unstable / Protective Custody	44	Suspicious Circumstances / Persons/Vehicles	153	Traffic Enforcement	102
Assaults	17	Persons/ venicles		Radar Monitoring	95
		Hangers / Trespassing	7		
Ambulance Assists	21	Disabled Vehicle	19	Total:	1569
Unwanted Person	38	Disabled Vernole	13		
Suicide Attempt	0	Neighbor/Tenant - Landlord Disputes	26		
		Threatening	5		
Alarms	87				
Problem 911	69	Vandalism	9		
		Drug Violations	3		
Non Violent Family Disputes	34				
Sex Assault	1	DWI	5		
Sex Assault	1	Noise Complaint	36		
Offense Against Child	3				
		Missing Persons	5		
Motor Vehicle Theft	1	Domestic Disturbance / Intimidation	15		
Total:	488		13		
		Total:	958		

Chief's Monthly Report: Records Bureau

Report for the month of: October Year: 2022						
Cases Filed: 866 Requests for reports: 90						
Registered Sex Offenders: 96 Observer Applicants: 1						
Requests from Parole and Corrections: 9 Criminal Record Checks: 75						
Vendor Permits Issued: 0 DCF Requests: 67						
Grant Overtime						
Narcotics: \$ 0 Community Enhancement Grant: \$ 3735.75						
D.U.I. \$ 0 Internet Crimes Against Children Grant \$ 0						
Underage Drinking: \$ 0 Violence ReductionGrant \$ 0						
Blockwatch Grant: \$ 0						
Youth & Police Grant: \$ 0 Dare Overtime: \$ 0						
<u>Items of Note:</u>						
167 INCOMING REQUESTS TOTAL 8 REQUESTS FROM COURT BODYCAM/REPORTS/BACKGROUND CHECKS 67 REQUESTS FROM DCF 7 REQUESTS FROM BOPP 2 REQUESTS FROM PROBATION 8 REQUESTS FROM OTHER POLICE DEPTS 2 REQUESTS FROM OTHER GOVN./MUNIC AGENCY 32 REQUESTS FROM LEXIS NEXIS (PR1/MV THEFT) 4 REQUESTS FROM METRO (PR1/MV THEFT) 35 REQUESTS FROM ATTORNYS, INSURANCE, PUBLIC, ETC.						
163 REPORTS REDACTED AND DISSEMINATED IN OCTOBER 2022 3 REQUESTS FOR BODYCAM, PHOTOS, 911 CALL, ETC FORWARD TO SGT FOR PROCESSING						
145 COMPLETED REQUESTS IN OCTOBER 2022						
12 INCOMING PISTOL PERMIT APPLICATIONS TAKEN 12 TEMP PISTOL PERMITS ISSUED 0 DENIED PISTOL PERMIT APP 1 BINGO PERMIT ISSUED						



Chief 's Monthly Report: DETECTIVE DIVISION

Report for the month of: October Year: 2022
New Cases: 20
Cases closed by arrest: 3 Cases closed no arrest: 7
Active cases on file: 55
Arrest Warrants Applied For: 3 Arrest Warrants Served: 1
Schools Attended and by whom:
S/MGIO - 1 Day SERT Training S/KJOH - 1 Day SERT Training 4 Days NW3C Basic Computer Forensics OSEG - 4hrs UOF Training
Attached pages detail all activity, broken down by incident type, for the Detective Bureau throughout the course of the month. # of attached pages: 3 Items of Note:
Officer Segui obained and served an Assault 1 arrest warrant on a suspect for a stabbing.
Officer Baranowski continued his multi-agency, multi-state investigation into drug trafficing that began with an investigation here in Torrington. The investigation is ongoing but, to date, arrests have been made and large quantities of assets have been seized.

Detective Division October 2022 Open Case Report

014	Offense Against Child	Total:	Q	Open:	Οī	Closed:	
018	Protective Custody	Total:	_	Open:	٠,٠	Closed:	
018A	Untimely Death	Total:	_	Open:	ے	Closed:	
068	Identity Theft	Total:	ယ	Open:	ω	Closed:	
1114	Registry Compliance	Total:	Ŋ	Open:	5	Closed:	
1142	Cell Phone Exam	Total:	N	Open:	N	Closed:	
11D	SexAssault Forcible Contact	Total:	_	Open:	_	Closed:	
120	Robbery	Total:	_	Open:	-	Closed:	
212	Civilian Request	Total:	_	Open:	7	Closed:	
220	Burglary	Total:	N	Open:	N	Closed:	
232	Harassment	Total:	_	Open:	7	Closed:	
23G	Larceny Theft of MV Parts	Total:	ယ	Open:	ယ	Closed:	

Detective Division October 2022 Closed Case Report

10	Closed:	Total 10 Open:	10	Total	Total Arrest: 3	
_	Closed:	Open:	1	Total:	9 Tele-Service	9999
_	Closed:	Open:	_	Total:	Untimely Death	410
2	Closed:	Open:	2	Total:	Suspicious Circumstances	281
_	Closed:	Open:	_	Total:	H Larceny All Other	23H
_	Closed:	Open:	4	Total:	Assault Aggravated	13A
_	Closed:	Open:	_	Total:	Robbery	120
_	Closed:	Open:	_	Total:	SexAssault Forcible Contact	11D
_	Closed:	Open:	_	Total:	7 Applicant Background	1117
_	Closed:	Open:	_	Total:	Weapon Ineligibility	069

Detective Division October 2022 New Case Report

014	Offense Against Child	Total:	_	Open:		Closed:	
068	Identity Theft	Total:	_	Open:	_	Closed:	
069	Weapon Ineligibility	Total:	ယ	Open:		Closed:	ယ
1111	Follow-Up Investigation	Total:	-	Open:		Closed:	_
1114	Registry Compliance	Total:	O	Open:		Closed:	0 1
1117	Applicant Background	Total:	_	Open:		Closed:	_
1142	Cell Phone Exam	Total:	_	Open:	_	Closed:	
220	Burglary	Total:	_	Open:	_	Closed:	
23B	Larceny Purse-snatch	Total:	_	Open:		Closed:	
26A	Fraud False Pretenses	Total:	_	Open:	_	Closed:	
281	Suspicious Circumstances	Total:	_	Open:	_	Closed:	
35C	Drug/Narcotic Info	Total:	-	Open:	_	Closed:	

Chief's Monthly Report

Traffic Division

Month of:

October

TRAFFIC	Traffic Surveys/Inspections/Complaints 6 Traffic/Speed Counts
PARKING TICKETS	16 Parking Tickets (Police) 161 Parking Tickets (Traffic) 0 Ordinance Tickets (Police) 0 Ordinance Tickets (Traffic) 1 Handicap Parking Tickets Issued 1 Fire Lane Parking Tickets Issued 0 Overnight Parking Tickets Issued 33,871.50 433,871.50 7832 \$357,761.00 1 Overnight Parking Tickets Issued 1 Fire Lane Parking Tickets Issued 0 Overnight Parking Tickets Issued 1 Overnight Parking Tickets Issued 2 Overnight Parking Tickets Issued 3 Overnight Parking Tickets Issued 3 Overnight Parking Tickets Issued 4 Overnight Parking Tickets Issued 5 Overnight Parking Tickets Issued 6 Overnight Parking Tickets Issued 7 Overnight Parking Tickets Issued 8 Overnight Parking Tickets Issued 8 Overnight Parking Tickets Issued 9
MV ACCIDENTS	118 Motor Vehicle Accidents Investigated 26 Motor Vehicle Accidents Involving Injuries 26 Total Persons Injured In Motor Vehicle Accidents 0 Motor Vehicle Accidents Involving Fatalities Total Fatalities
TRAFFIC VIOLATIONS	2 School Bus Violations 5 Driving While Intoxicated Violations 82 Stop Sign Violations 95 Speed Monitoring Locations 119 Speeding Violations Traffic Signal Violations 412 Total Traffic Violations Traffic Enforcement Locations 0 Commercial Vehicle Inspections
MAINTENANCE	12 Traffic Signals Requiring Repair/Maintenance 20 Traffic Signs Requiring Repair/Maintenance 0 Roadway Markings Requiring Maintenance 35 Meters Requiring Repair/Maintenance
TIME	39.75 Employee Hours Lost Due to Earned Time 65.5 Employee Hours Lost Due to Sick Time

Chief's Monthly Report: Animal Control Division

Report for the month of: October Year: 2022
Total Animal Control Calls: 106 Assist Other Agency: 4 Followup Investigations: 28 Torrington Calls: 106 Goshen Calls: 0 Litchfield Calls: 0 Total Tele-Service Calls: 14 Torrington Tele-Service: 14 Goshen Tele-Service: 0 Litchfield Tele-Service: 0 Calls Handled After Hours: Calls Handled By Patrol Division: 46 Total Animal Bite Calls: 3 Torrington Bites: 3 Goshen Bites: 0 Litchfield Bites: 0 Infractions Issued: 0 Written Warnings: 0 Arrests: 0
Animals Impounded: Animals Redeemed to Owners: 8 Dead Deer: Dead Animals: Other Special Activities this Month:

October or

OVERTIME WEEK ENDING

10/01/2022 December BRS

DATE			Printed 11/2/2022				Mor	ithly
DATE		DIVISI		RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
10/1/22	CURTIN	PATROL	PRISONER WATCH Allan Trivaudey	\$38.6684	8	\$58.0026	\$464.0208	10/01/2022
10/1/22	STEPP	PATROL	PRISONER WATCH Allan Trivaudey	\$35.1058	1	\$52.6587	\$52.6587	10/01/2022
10/1/22	GUIDA	PATROL	PRISONER WATCH Allan Trivaudey	\$40.6330	10.5	\$60.9495	\$639.9698	10/01/2022
10/1/22	GONZALEZ	PATROL	REPL SHIFT SHORTAGE DUE TO PRISONE	R \$53.1781	8	\$79.7672	\$638.1372	10/01/2022
10/1/22	BARANOWSKI	DETECTI	VE 22-35838 UNTIMELY DEATH ON RDO	\$38.6684	8	\$58.0026	\$464.0208	10/01/2022
10/1/22	BUZZI	PATROL	PATROL - DAYS	\$35.1058	8	\$52.6587	\$421.2696	10/01/2022
10/1/22	DALLAS	PATROL	22-35948 DRUG/NARCO ARREST	\$38.6684	1.5	\$58.0026	\$87.0039	
10/1/22	DOS SANTOS	PATROL	PATROL - DAYS	\$36.1598	4	\$54.2397		10/01/2022
10/1/22	MAIGA	PATROL	PATROL - EVES	\$43.5314	8.5	\$65.2971	\$216.9588	10/01/2022
10/1/22	TIEMAN	DETECTIV	VE 22-35838 UNTIMELY CALL OUT	\$43.5314	8	\$65.2971	\$555.0254	10/01/2022
10/1/22	SOUTHARD	PATROL	PATROL - MIDS OIC RATE	\$48.2916	8		\$522.3768	10/01/2022
10/2/22	BALDIS	PATROL	PATROL - EVES	\$43.5314	8.5	\$72.4374	\$579.4992	10/01/2022
10/2/22	BALDIS	PATROL	PATROL - DAYS - OIC RATE	\$48.2916	8	\$65.2971	\$555.0254	10/08/2022
10/4/22	BALDIS	PATROL	PATROL - EVES	\$43.5314	-	\$72.4374	\$579.4992	10/08/2022
10/5/22	BROUILLARD	PATROL	22-36297 MTG WITH SA KNIGHT	\$48.2916	8.5	\$65.2971	\$555.0254	10/08/2022
10/4/22	CONNOLLY	PATROL	PRISONER WATCH AT ST. FRAN		2	\$72.4374	\$144.8748	10/08/2022
10/3/22	DALLAS	PATROL	PRISONER WATCH ST FRAN	\$38.6684	8	\$58.0026	\$464.0208	10/08/2022
10/3/22	DAVIES	PATROL	PRISONER WATCH ST FRAN	\$38.6684	8.5	\$58.0026	\$493.0221	10/08/2022
10/4/22	DAVIES	PATROL	PATROL - EVES	\$38.6684	9	\$58.0026	\$522.0234	10/08/2022
10/2/22	FAY	ADMIN	HARWINTON FAIR WITH CADETS	\$38,6684	8	\$58.0026	\$464.0208	10/08/2022
10/5/22	FAY	PATROL	22-34225 COURT CASE	\$36.1598	4	\$54.2397	\$216.9588	10/08/2022
10/1/22	FIFER	PATROL	PATROL - DAYS	\$36.1598	2	\$54.2397	\$108.4794	10/08/2022
10/3/22	FOX	PATROL	PATROL - EVES	\$38.6684	3.5	\$58.0026	\$203.0091	10/08/2022
10/3/22	GIORDANO	TRAINING	ACCREDITATION MTG	\$38.6684	8	\$58.0026	\$464.0208	10/08/2022
10/2/22	GONZALEZ	PATROL	PATROL - EVES	\$43.5314	7	\$65.2971	\$457.0797	10/08/2022
10/2/22	GUIDA	PATROL	PATROL - MIDS	\$53.1781	9	\$79.7672	\$717.9044	10/08/2022
10/4/22	HUBBARD	PATROL		\$40.6330	8.5	\$60.9495	\$518.0708	10/08/2022
10/7/22	JOHNSON B	TRAINING	PATROL - DAYS	\$35.1058	8	\$52.6587	\$421.2696	10/08/2022
			FBI ACADEMY ON RDO	\$48.2916	8	\$72.4374	\$579.4992	10/08/2022

O A PIZITIALE AA PER PRINTING	OV	ERTIN	NE W	EEK	ENDING
-------------------------------	----	-------	------	-----	--------

10/08/2022

			- VEIXI IIVIL	WEEK ENDING	10/08/2	2022			
DATE	E NAME	DIVISION	Assignment	Printed 11/2/2022 Printed by Michele				Moi	nthly
10/3/22	KRZANOWSKI	PATROL	22-16057 APPLICANT		RATE	OT HE	RS OT RATE	TOTAL OT	WEEK ENDING
10/2/22	MAIGA	TRAINING	REVIEW OF WEEKLY		\$48.2916		\$72.4374	\$144.8748	10/08/2022
10/4/22	ROULEAU	SUPPORT	ACCREDITATION WIT		\$43.5314		\$65.2971	\$65.2971	10/08/2022
10/5/22	ROULEAU	SUPPORT	GENERAL ORDERS	TOPT. LGON	\$48.2916		\$72.4374	\$217.3122	10/08/2022
10/2/22	RUBINO	PATROL	PRISONER WATCH AT	F ST EDAN	\$48.2916	3.5	\$72.4374	\$253.5309	10/08/2022
10/4/22	SIMPSON	PATROL	PATROL - EVES	SIFRAN	\$32.6194	1.5	\$48.9291	\$73.3937	10/08/2022
10/5/22	SIMPSON	PATROL	22-36297 FVO ARREST	F PEDODT	\$38.6684	8.5	\$58.0026	\$493.0221	10/08/2022
10/2/22	SOUTHARD	PATROL	PRISONER WATCH ST		\$38.6684	2	\$58.0026	\$116.0052	10/08/2022
10/5/22	STEPP	PATROL	22-34225 COURT CASE		\$43.5314	8	\$65.2971	\$522.3768	10/08/2022
10/2/22	STEVENS	PATROL	PRISONER WATCH ST		\$35.1058	2	\$52.6587	\$105.3174	10/08/2022
10/2/22	ZAMBETTI	PATROL	PRISONER WATCH ST		\$38.6684	1.5	\$58.0026	\$87.0039	10/08/2022
10/3/22	ZAMBETTI	FIRIANICA	DEFLECTION TRAINING		\$35.1058	1.5	\$52.6587	\$78.9881	10/08/2022
10/4/22	ZAMBETTI	FINANCIAL	DEFLECTION TRAINING	G - OPIATE GRANT	\$35.1058	8.5	\$52.6587	\$447.5990	10/08/2022
10/3/22	STEPP		DEFLECTION TRAINING		\$35.1058	8	\$52.6587	\$421.2696	10/08/2022
10/3/22	SIMPSON		DEFLECTION TRAINING		\$35.1058	8.5	\$52.6587	\$447.5990	10/08/2022
10/3/22	KELLY		DEFLECTION TRAINING		\$38.6684	8.5	\$58.0026	\$493.0221	10/08/2022
10/4/22	KELLY		DEFLECTION TRAINING		\$43.5314	8.5	\$65.2971	\$555.0254	10/08/2022
10/4/22	BAROWN		ADMIN DUTIES	- OPIATE GRANT	\$43.5314	8	\$65.2971	\$522.3768	10/08/2022
10/6/22	BUZZI	TED AINIINIO	PEER SUPPORT TRNG		\$53.1781	1	\$79.7672	\$79.7672	10/08/2022
10/6/22	GONSKA	TENAME	PCA/CPF OFFICER WE	I I NESS SYMPONIA	\$35.1058	8	\$52.6587	\$421.2696	10/08/2022
10/4/22	GONSKA		2-34464 VEHICLE INSP		\$43.5314	10	\$65.2971	\$652.9710	10/08/2022
10/5/22	KRZANOWSKI	DATOOL	2-16057 BACKGROUND		\$43.5314	6	\$65.2971	\$391.7826	10/08/2022
10/6/22	KISIEL	TENAMATA	EER SUPPORT TRNG	, IIAA	\$48.2916	2	\$72.4374	\$144.8748	10/08/2022
10/6/22	MRAZIK	DATEC	ATROL - EVES		\$36.1598	8	\$54.2397	\$433.9176	10/08/2022
10/6/22	PRISTINA	DATE	2-36495 FVO REPORT		\$38.6684	8	\$58.0026	\$464.0208	10/08/2022
10/6/22	SIMPSON	DATROL	ATROL - EVES		\$35.1058	1	\$52.6587	\$52.6587	10/08/2022
10/5/22	BALDIS	TDAILU	PPLICANT BACKGROU	ND INTEDVICE	\$38.6684	8	\$58.0026	\$464.0208	10/08/2022
10/3/22	BUZZI		DLICE EXPLORER HAR		\$43.5314	4	\$65.2971	\$261.1884	10/08/2022
				AAIIA I OM LAIK	\$35.1058	4	\$52.6587	\$210.6348	10/08/2022

	O	/ER	TIME	WEEK	ENDING
--	---	-----	------	------	---------------

10/08/2022

DATE	NAME	D11 #616	Printed 11/2/2022				Mor	nthly
10/8/22		DIVISIO		RATE	OT HR	OT RATE	TOTAL OT	WEEK ENDING
10/3/22	BUZZI	ADMIN	PATROL - DAYS	\$35.1058	8	\$52.6587	\$421.2696	10/08/2022
	CASTILLA	PATROL	PATROL - EVES	\$35.1058	8	\$52.6587	\$421.2696	10/08/2022
10/7/22	D'AUTORIO	PATROL	22-33828 TASER INCIDENT/TRAINING DSTE/	\$43.5314	1.5	\$65.2971	\$97.9457	10/08/2022
10/8/22	D'AUTORIO	TRAINING	USE OF FORCE LESSON PLAN	\$43.5314	1.5	\$65.2971	\$97.9457	10/08/2022
10/4/22	GONZALEZ	PATROL	PRISONER RELEASE CHH / ACCREDITATION	\$53.1781	2.5	\$79.7672	\$199.4179	10/08/2022
10/7/22	GUIDA	PATROL	PATROL - EVES	\$40.6330	8.5	\$60.9495	\$518.0708	10/08/2022
10/8/22	GUIDA	PATROL	PATROL - EVES	\$40.6330	8.5	\$60.9495	\$518.0708	10/08/2022
10/8/22	KRZANOWSKI	TRAINING	22-325490/22-16057 BACKGROUND	\$48.2916	4.5	\$72.4374	\$325.9683	10/08/2022
10/8/22	MAIGA	PATROL	PATROL - DAYS	\$43.5314	8.5	\$65.2971	\$555.0254	10/08/2022
10/7/22	MAIGA	PATROL	PATROL - EVES	\$43.5314	8.5	\$65.2971	\$555.0254	10/08/2022
10/8/22	MAIGA	PATROL	PATROL - EVES	\$43.5314	8	\$65.2971	\$522.3768	10/08/2022
10/7/22	MRAZIK	PATROL	22-36015 DUI	\$38.6684	1.5	\$58.0026	\$87.0039	
10/8/22	POWELL	PATROL	PATROL - DAYS	\$35.1058	8	\$52.6587	\$421.2696	10/08/2022 10/08/2022
10/8/22	ROULEAU	PATROL	PATROL - EVES	\$48.2916	8	\$72.4374	\$579.4992	
10/7/22	RUBINO	PATROL	22-36015 DUI	\$32.6194	1.5	\$48.9291	\$73.3937	10/08/2022
10/7/22	WITYAK	PATROL	PATROL - EVES	\$48.2916	8	\$72.4374		10/08/2022
10/8/22	SOUTHARD	PATROL	PATROL - MIDS - OIC RATE	\$48.2916	8 .	\$72.4374	\$579.4992 \$579.4992	10/08/2022
10/9/22	ABELING	PATROL	PATROL - EVES	\$38.6684	8	\$58.0026	\$579.4992	10/08/2022
10/13/22	BUZZI	PATROL	PATROL - DAYS	\$35.1058	8	\$52.6587	\$464.0208	10/15/2022
10/4/22	CURTIN	TRAINING	TRAINING - COMPUTER FORENSICS	\$38.6684	8		\$421.2696	10/15/2022
10/6/22	CURTIN	TRAINING	TRAINING - COMPUTER FORENSICS	\$38.6684	8	\$58.0026 \$58.0026	\$464.0208	10/15/2022
10/9/22	CURTIN	PATROL	PATROL - DAYS	\$38.6684	8	\$58.0026 \$58.0026	\$464.0208	10/15/2022
10/13/22	CURTIN	AIT	AIT TRAINING	\$38.6684	8	\$58.0026 \$58.0026	\$464.0208	10/15/2022
10/5/22	CURTIN	TRAINING	COMPUTER FORENSICS TRAINING	\$38.6684		\$58.0026	\$464.0208	10/15/2022
10/13/22	DALLAS	AIT	AIT Training	\$38.6684	8	\$58.0026 \$58.0026	\$464.0208	10/15/2022
10/13/22	DAVIES	PATROL	PATROL EVE	\$38.6684	8	\$58.0026	\$464.0208	10/15/2022
10/12/22	FADOR	ADMIN	ADMINISTRATION CURROTHS			\$58.0026	\$464.0208	10/15/2022
10/13/22	FAY	DATEC	WADDANT #24 22574	\$40.6330 \$36.4500	100	\$60.9495	\$182.8485	10/15/2022
(d)			The state of the s	\$36.1598	1.5	\$54.2397	\$81.3596	10/15/2022

OVERTIME WEEK ENDING	O	VER	TIME	WEEK	ENDING
----------------------	---	-----	------	------	--------

10/15/2022

DATE	NAME	DIVISIO	Printed 11/2/202		10/10/2	OZZ		Mo	nthly
10/9/22	FIFER	PATROL	The state of the s	ele ·	RATE	OT HR	S OT RATE	TOTAL OT	WEEK ENDING
10/9/22	GAUDETTE	PATROL	PATROL - DAYS PATROL - MIDS	10 X	\$38.6684	8	\$58.0026	\$464.0208	10/15/2022
10/13/22		AIT	AIT TRAINING		\$35.1058	8	\$52.6587	\$421.2696	10/15/2022
10/9/22	GONZALEZ	PATROL	PATROL - EVES		\$43.5314	8	\$65.2971	\$522.3768	10/15/2022
10/15/22	DOS SANTOS	PATROL	PATROL - EVES		\$53.1781	8	\$79.7672	\$638.1372	10/15/2022
10/15/22	ABELING	PATROL	PATROL - EVES		\$36.1598	3.5	\$54.2397	\$189.8390	10/15/2022
10/13/22	BALDIS	SUPPORT	PAL BACKGROUNDS/APPLICAN		\$38.6684	4	\$58.0026	\$232.0104	10/15/2022
10/15/22	BAROWN	PATROL	PATROL - EVES	VT	\$43.5314	4	\$65.2971	\$261.1884	10/15/2022
10/15/22	BUZZI	PATROL	PATROL - DAYS		\$53.1781	8	\$79.7672	\$638.1372	10/15/2022
10/14/22	CURTIN	PATROL	MUTUAL AID TO BRISTOL		\$35.1058	8	\$52.6587	\$421.2696	10/15/2022
10/14/22	D'AUTORIO	TRAINING	USE OF FORCE TRNG PREP		\$38.6684	10	\$58.0026	\$580.0260	10/15/2022
10/14/22	DELAY	PATROL	MUTUAL AID BRISTOL		\$43.5314	1.5	\$65.2971	\$97.9457	10/15/2022
10/14/22	FAY	PATROL	MUTUAL AID BRISTOL		\$43.5314	10	\$65.2971	\$652.9710	10/15/2022
10/14/22	FOLEY	PATROL	22-37402 F/U & INITIAL REPORT		\$36.1598	10	\$54.2397	\$542.3970	10/15/2022
10/15/22	GAUDETTE	PATROL	PATROL - DAYS		\$38.6684	6	\$58.0026	\$348.0156	10/15/2022
10/15/22	GAUDETTE	PATROL	PATROL - EVES		\$35.1058	8	\$52.6587	\$421.2696	10/15/2022
10/15/22	GONZALEZ	PATROL	PATROL - MIDS		\$35.1058	8	\$52.6587	\$421.2696	10/15/2022
10/15/22	GONZALEZ	PATROL	PATROL - DAYS		\$53.1781	8.5	\$79.7672	\$678.0208	10/15/2022
10/13/22	HUBBARD	PATROL	21-23571 WARRANT ARREST		\$53.1781	8	\$79.7672	\$638.1372	10/15/2022
10/9/22	KRZANOWSKI	PATROL	22-33828 / 22-33349 / 22-35194 US	E OF FORCE	\$35.1058	1.75	\$52.6587	\$92.1527	10/15/2022
10/9/22	KRZANOWSKI	DATEC	AIT CASE REVIEW 22-15586	L OF FURCE		2.5	\$72.4374	\$181.0935	10/15/2022
10/10/22	KRZANOWSKI	TOAINUALO	22-16057 BACKGROUND INV.		\$48.2916	1	\$72.4374	\$72.4374	10/15/2022
10/12/22	KRZANOWSKI	TOAILIE	APPLICANT BACKGROUND		\$48.2916	323	\$72.4374	\$72.4374	10/15/2022
10/10/22	LOUCKS	DATEC	MONTHLY CANINE IN-SERVICE		\$48.2916		\$72.4374	\$72.4374	10/15/2022
10/14/22	MAIGA	TDAILLE	ONLINE COURSE WORK FOR INS	TRUCTOR	\$38.6684	2 /22	\$58.0026	\$464.0208	10/15/2022
10/15/22	PRISTINA	DATEC	PATROL - MIDS		\$43.5314		\$65.2971	\$97.9457	10/15/2022
10/10/22	ROULEAU	011555	G.O. W/ MGIO FTO W/ JMAI		\$35.1058		\$52.6587	\$421.2696	10/15/2022
10/12/22	ROULEAU	OLIDDOGG	ACCREDITATION MANAGER HOM		\$48.2916	3223 S	\$72.4374	\$144.8748	10/15/2022
- 81				- 4 A O I / I/	\$48.2916	3	\$72.4374	\$217.3122	10/15/2022

0	V	ER	T	M	E	WEEK	EN	DING
-	-				1000000	W W Green Boson H VA		

10/15/2022

			Printed 11/2/2022				Mor	ithly
DATE		DIVISIO	N Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
10/13/22		SUPPORT	G.O 10-01	\$48.2916	2	\$72.4374	\$144.8748	10/15/2022
10/15/22		PATROL	PATROL - EVES	\$48.2916	8.5	\$72.4374	\$615.7179	10/15/2022
10/14/22		PATROL	PATROL - EVES	\$38.6684	8	\$58.0026	\$464.0208	10/15/2022
10/14/22	WITYAK	PATROL	PATROL - EVES	\$48.2916	8	\$72.4374	\$579.4992	10/15/2022
10/13/22	KRZANOWSKI	AIT	AIT TRAINING	\$48.2916	8	\$72.4374	\$579.4992	10/15/2022
10/11/22	KELLY	FINANCIA	COMMUNITY OUTREACH OPIATE GRANT	\$43.5314	3	\$65.2971	\$195.8913	10/15/2022
10/15/22	BALDIS	SUPPORT	PED BASE INSTALLED E MAIN ST/BUENA	\$43.5314	6	\$65.2971	\$391.7826	10/15/2022
10/12/22	LETTIERI	AIT	AIT QUARTERLY TRNG	\$43.5314	8	\$65.2971	\$522.3768	10/13/2022
10/16/22	ABELING	PATROL	PATROL - EVES	\$38.6684	8	\$58.0026	\$464.0208	10/22/2022
10/17/22	BALDIS	SUPPORT	CITY ORD MTG	\$43.5314	4	\$65.2971	\$261.1884	
10/18/22	BALDIS	PATROL	22-37901 MVA	\$43.5314	4	\$65.2971		10/22/2022
10/18/22	DALLAS	TRAINING	USE OF FORCE TRNG	\$38.6684	4	\$58.0026	\$261.1884	10/22/2022
10/18/22	STEVENS	TRAINING	USE OF FORCE TRNG	\$38.6684	3.5	\$58.0026	\$232.0104	10/22/2022
10/18/22	KISIEL	TRAINING	USE OF FORCE TRNG	\$36.1598	3.5	\$54.2397	\$203.0091	10/22/2022
10/18/22	SOUTHARD	TRAINING	USE OF FORCE TRNG	\$43.5314	3.5		\$189.8390	10/22/2022
10/18/22	KELLY	TRAINING	USE OF FORCE TRNG	\$43.5314	4	\$65.2971 \$65.2074	\$228.5399	10/22/2022
10/18/22	D'AUTORIO	TRAINING	USE OF FORCE INSTRUCTOR	\$43.5314	8	\$65.2971 \$65.2074	\$261.1884	10/22/2022
10/19/22	FADOR	DETECTIVI	22-37900 PC/INTERVIEW	\$40.6330		\$65.2971	\$522.3768	10/22/2022
10/18/22	FOLEY	PATROL	TMS AFTER SCHOOL PROGRAM	\$38.6684	2	\$60.9495	\$121.8990	10/22/2022
10/16/22	GONZALEZ	PATROL	PATROL - MIDS	\$53.1781	3	\$58.0026	\$174.0078	10/22/2022
10/16/22	GUIDA	PATROL	PATROL - MIDS		8	\$79.7672	\$638.1372	10/22/2022
10/17/22	GUIDA	PATROL	PATROL - DAYS	\$40.6330	8.5	\$60.9495	\$518.0708	10/22/2022
10/18/22	GUIDA	PATROL	PATROL - DAYS	\$40.6330	7.5	\$60.9495	\$457.1213	10/22/2022
10/19/22	GUIDA	DETECTIVE	22-37900 INTERVIEW / PC	\$40.6330	7.5	\$60.9495	\$457.1213	10/22/2022
10/21/22	JOHNSON B	TRAINING	FBI ACADEMY ON RDO	\$40.6330	2	\$60.9495	\$121.8990	10/22/2022
10/16/22	KRZANOWSKI	PATROL	PATROL - DAYS	\$48.2916	8	\$72.4374	\$579.4992	10/22/2022
10/17/22	KRZANOWSKI	ADMIN		\$48.2916	8	\$72.4374	\$579.4992	10/22/2022
10/17/22	MCINTYRE	PATROL	22-35490 BACKGROUND INVEST	\$48.2916	2	\$72.4374	\$144.8748	10/22/2022
-			22-37785 SUSP CIRCUMSTANCES	\$38.6684	1.5	\$58.0026	\$87.0039	10/22/2022

0	V	EF	7	-IN	ΛE	WE	EK	FNI	DING
_		Manua 21	# II) II lhom	88 5		LINL	

10/22/2022

DATE	E NAME	DIVIS	Printed 11/2/2022				(Mo	nthly
10/19/22	2 MRAZIK	PATROL	J. T.	RATE	ОТН	RS OT RATE	TOTAL OT	WEEK ENDING
10/20/22		PATROL	75-2011 LA	\$38.6684	1.5	\$58.0026	\$87.0039	10/22/2022
10/19/22		PATROL	AINOL-DATS	\$38.6684	8	\$58.0026	\$464.0208	10/22/2022
10/19/22		PATROL	110 KEPOKIS	\$32.6194	1	\$48.9291	\$48.9291	10/22/2022
10/16/22		PATROL	110 KLPOKIS	\$38.6684	1	\$58.0026	\$58.0026	10/22/2022
10/19/22		PATROL	LYLYOF - EAE2	\$48.2916	8	\$72.4374	\$579.4992	10/22/2022
10/16/22		PATROL	OOOTT VO REPORT	\$32.6194	1.5	\$48.9291	\$73.3937	10/22/2022
10/16/22		PATROL	WINGE - MIDS	\$38.6684	8	\$58.0026	\$464.0208	10/22/2022
10/16/22	TOLEDO	PATROL	PATROL - MIDS PATROL - DAYS	\$43.5314	8	\$65.2971	\$522.3768	10/22/2022
10/15/22	YABROSKY	ADMIN		\$38.6684	8	\$58.0026	\$464.0208	10/22/2022
10/17/22	YABROSKY	ADMIN	BRISTOL PD DEBRIEF @ BEHS	\$38.6684	3	\$58.0026	\$174.0078	10/22/2022
10/19/22	ZAMBETTI	PATROL	BRISTOL PD FAMILY DEBRIEF @ BEHS PATROL - DAYS	\$38.6684	4	\$58.0026	\$232.0104	10/22/2022
10/20/22	CONNOLLY	TRAINING		\$35.1058	8	\$52.6587	\$421.2696	10/22/2022
10/20/22	KELLY	FINANCIA	OUL OF TORCE TRAINING	\$38.6684	4	\$58.0026	\$232.0104	10/22/2022
10/20/22	BALDIS	PATROL	COMMUNITY OUTREACH OPIATE GRANT 22-38146 MVA	\$43.5314	3	\$65.2971	\$195.8913	10/19/2022
10/21/22	BAROWN	PATROL	PATROL - EVES	\$43.5314	4.5	\$65.2971	\$293.8370	10/22/2022
10/20/22	BLASIAK	PATROL	22-38146 ASSIST TROOP B MVA	\$53.1781	8	\$79.7672	\$638.1372	10/22/2022
10/20/22	BUZZI	TRAINING		\$38.6684	3	\$58.0026	\$174.0078	10/22/2022
10/21/22	BUZZI	PATROL	PATROL - DAYS	\$35.1058	5	\$52.6587	\$263.2935	10/22/2022
10/20/22	HUBBARD	TRAINING		\$35.1058	8.5	\$52.6587	\$447.5990	10/22/2022
10/20/22	LETTIERI	TRAINING	MANDATORY USE OF FORC TRNG	\$35.1058	3.5	\$52.6587	\$184.3055	10/22/2022
10/20/22	RICKEVICIUS	TRAINING	MANDATORY USE OF FORC TRNG	\$43.5314	4	\$65.2971	\$261.1884	10/22/2022
10/20/22	WITYAK	TRAINING	MANDATORY USE OF FORCE TRNG	\$32.6194	3.5	\$48.9291	\$171.2519	10/22/2022
10/20/22	YABROSKY	TRAINING	MANDATORY USE OF FORC TRNG	\$48.2916	4	\$72.4374	\$289.7496	10/22/2022
10/19/22	COOPER	TRAINING	SRO SCHOOL PUTNAM CT	\$38.6684	3.5	\$58.0026	\$203.0091	10/22/2022
10/20/22	COOPER	TRAINING	SRO SCHOOL PUTNAM CT	\$38.6684	3.5	\$58.0026	\$203.0091	10/22/2022
10/20/22	DAVIES	PATROL	22-38146 ASSIST TROOP B MVA	\$38.6684	3.5	\$58.0026	\$203.0091	10/22/2022
10/22/22	GONZALEZ	PATROL	PATROL - EVES	\$38.6684	3	\$58.0026	\$174.0078	10/22/2022
f ₀)			TO DE MA PILETA	\$53.1781	8	\$79.7672	\$638.1372	10/22/2022

Comment of the Control of the Contro					
C 1 / 1	me hand alles it to	O CONTRACTOR OF CO.	IEEK	FREE P. M. Com-	
H B W B		AND DOWN AND		EMIL	
~ " "		WHE WY		B- 808 11 B	H H STATE THE

10/22/2022

DATE	NAME	DIV.#1010	*	Printed 11/2/2022				Mor	nthly
10/22/22	GUIDA	DIVISIO		Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
10/22/22		PATROL	PATROL - EVES		\$40.6330	8.5	\$60.9495	\$518.0708	10/22/2022
10/22/22	HUBBARD	PATROL	PATROL - MIDS		\$35.1058	8	\$52.6587	\$421.2696	10/22/2022
10/22/22	KRZANOWSKI	PATROL		ROUND INV/22-33349 USE O	F \$48.2916	3	\$72.4374	\$217.3122	10/22/2022
	MAIGA	PATROL	PATROL - EVES		\$43.5314	8.5	\$65.2971	\$555.0254	10/22/2022
10/20/22	MRAZIK	TRAINING	I TO DUTIES / BLU	JE BOOK DISCUSSION,	\$38.6684	2	\$58.0026	\$116.0052	10/22/2022
10/20/22	RUBINO	TRAINING	1 TO DOTIES / BEO	JE BOOK DISCUSSION,	\$32.6194	2	\$48.9291	\$97.8582	10/22/2022
10/21/22	POWELL	PATROL	PATROL - EVES		\$35.1058	8.5	\$52.6587	\$447.5990	10/22/2022
10/22/22	POWELL	PATROL	PATROL - DAYS		\$35.1058	8	\$52.6587	\$421.2696	10/22/2022
10/21/22	PRISTINA	PATROL	PATROL - MIDS		\$35.1058	8	\$52.6587	\$421.2696	10/22/2022
10/19/22	ROULEAU	SUPPORT	ACCREDITATION 1	TRNG W/ DLG	\$48.2916	3	\$72.4374	\$217.3122	10/22/2022
10/20/22	ROULEAU	SUPPORT	FINAL EXAM FOR	ACCREDITATION	\$48.2916	4.5	\$72.4374	\$325.9683	10/22/2022
10/22/22	ROULEAU	SUPPORT	PATROL - EVES		\$48.2916	8.5	\$72.4374	\$615.7179	10/22/2022
10/22/22	SOUTHARD	PATROL	PATROL - MIDS		\$43.5314	8.5	\$65.2971	\$555.0254	10/22/2022
10/22/22	STEVENS	PATROL	PATROL - DAYS		\$38.6684	8	\$58.0026	\$464.0208	10/22/2022
10/22/22	SULTAIRE	PATROL	PATROL - DAYS		\$43.5314	8.5	\$65.2971	\$555.0254	10/22/2022
10/21/22	WITYAK	PATROL	PATROL - MIDS		\$48.2916	7	\$72.4374	\$507.0618	10/22/2022
10/22/22	WITYAK	PATROL	PATROL - MIDS		\$48.2916	8	\$72.4374	\$579.4992	10/22/2022
10/20/22	KELLY		LITCHFIELD OPIAT	E TASK FORCE GRANT	\$43.5314	3	\$65.2971	\$195.8913	10/22/2022
10/23/22	ABELING	PATROL	22-38467 HOME INV	/ASION	\$38.6684	2.5	\$58.0026	\$145.0065	10/29/2022
10/23/22	BUZZI		PATROL - DAYS		\$35.1058	8	\$52.6587	\$421.2696	10/29/2022
10/23/22	D'AUTORIO		PATROL - MIDS		\$43.5314	NEW 1	\$65.2971	\$522.3768	10/29/2022
10/23/22	FAULKNER		22-38467 HOME INV	ASION	\$43.5314		\$65.2971	\$32.6486	
10/23/22	GONZALEZ		PATROL - MIDS		\$53.1781		\$79.7672	\$638.1372	10/29/2022
10/23/22	GUIDA	DETECTIVE	22-38467 HOME INV	ASION	\$40.6330		\$60.9495		10/29/2022
10/23/22	JOHNSON K	DETECTIVE	22-38467 HOME INV	ASION	\$48.2916		\$72.4374	\$518.0708 \$615.7170	10/29/2022
10/24/22	KELLY		WEST HARTFORD S	SCHOOL FVO	\$43.5314		\$65.2971	\$615.7179 \$261.1004	10/29/2022
	KRZANOWSKI	TRAINING	22-35490 APPLICAN	T DAOMODO	\$48.2916		\$72.4374	\$261.1884	10/29/2022
10/24/22	KRZANOWSKI	DATE		37040 14 00 0	\$48.2916		\$72.4374 \$72.4374	\$253.5309	10/29/2022
						-	y1 2.4314	\$144.8748	10/29/2022

	OV	ER	TII	ME	WEEK	ENDING
--	----	----	-----	----	------	---------------

10/29/2022

				- ALTIN FIADING	10/29/2	2022		RM -	nthly
DATE	NAME	DIVISIO	N Assignment	Printed 11/2/2022 Printed by Michele	RATE	OT UE			nthly
10/23/22	MRAZIK	PATROL	22-38467 HOME IN	/ / FTO DUTIES BLUE		OT HR		TOTAL OT	WEEK ENDING
10/23/22	RUBINO	PATROL		// FTO DUTIES BLUE	\$38.6684		\$58.0026	\$174.0078	10/29/2022
10/24/22	POWELL	PATROL	22-38491 FVO ARRI		\$32.6194		\$48.9291	\$146.7873	10/29/2022
10/23/22	ROULEAU	PATROL	PATROL - EVES	- William	\$35.1058		\$52.6587	\$131.6468	10/29/2022
10/23/22	SEGUI	DETECTIV	E 22-38467 HOME INV	ASION	\$48.2916	8.5	\$72.4374	\$615.7179	10/29/2022
10/23/22	STEPP	PATROL	PATROL - MIDS		\$40.6330	8.5	\$60.9495	\$518.0708	10/29/2022
10/26/22	BELONICK	SERT	SRT TRNG ON RDO		\$35.1058	8	\$52.6587	\$421.2696	10/29/2022
10/26/22	FOLEY	SERT	SRT TRNG		\$36.1598	8	\$54.2397	\$433.9176	10/29/2022
10/26/22	BROUILLARD	SERT	SRT TRNG		\$38.6684	8	\$58.0026	\$464.0208	10/29/2022
10/26/22	LETTIERI	SERT	SRT TRNG		\$48.2916	8	\$72.4374	\$579.4992	10/29/2022
10/27/22	GAUDETTE	PATROL	PATROL - MIDS		\$43.5314	7.5	\$65.2971	\$489.7283	10/29/2022
10/26/22	KRZANOWSKI	PATROL	IA 22-38 CORRECTIO	DNS / IA 22-36 REVIEW	\$35.1058	8	\$52.6587	\$421.2696	10/29/2022
10/26/22	KRZANOWSKI	PATROL	IA 22-38 REVIEW	TO INCESTOO INTEREST	\$48.2916	1.5	\$72.4374	\$108.6561	10/29/2022
10/26/22	GONSKA	PATROL	PATROL - DAYS		\$48.2916	2	\$72.4374	\$144.8748	10/29/2022
10/25/22	FOLEY	A DRAIN!	MIDDLE SCHOOL ED	ADVANCE AFTER	\$43.5314	8	\$65.2971	\$522.3768	10/29/2022
10/25/22	CASTILLA	DATDOL	22-38701 FVO ARRES		\$38.6684	3	\$58.0026	\$174.0078	10/29/2022
10/25/22	BLASIAK	TOAIMIO	TRAINING BRANFOR		\$35.1058 \$39.6004	3	\$52.6587	\$157.9761	10/29/2022
10/25/22	BRENNAN	DATDOL	22-38703 ARREST/WA		\$38.6684	1.5	\$58.0026	\$87.0039	10/29/2022
10/26/22	TOLEDO	DATROL	PATROL - DAYS		\$38.6684	1.5	\$58.0026	\$87.0039	10/29/2022
10/24/22	ROULEAU	CURROR	ACCREDITATION		\$38.6684	8	\$58.0026	\$464.0208	10/29/2022
10/27/22	CONNOLLY	TDAINING		EW BRITAIN ACADEMY	\$48.2916	2.5	\$72.4374	\$181.0935	10/29/2022
10/27/22	BAROWN		PATROL - EVES	DIMININ ACADEMY	\$38.6684	1	\$58.0026	\$58.0026	10/29/2022
10/26/22	RUBINO	SERT	SRT TRNG ON RDO		\$53.1781	8	\$79.7672	\$638.1372	10/29/2022
10/26/22	CONNOLLY	CEDT	SRT TRNG ON RDO		\$32.6194	8	\$48.9291	\$391.4328	10/29/2022
10/26/22	LOUCKS	CEDT	RT TRNG ON RDO	35.	\$38.6684		\$58.0026	\$464.0208	10/29/2022
10/26/22	SIMPSON	CEDT	RT TRNG ON RDO		\$38.6684		\$58.0026	\$435.0195	10/29/2022
10/26/22	BERNABUCCI	OFF	RT TRNG ON RDO		\$38.6684		\$58.0026	\$464.0208	10/29/2022
10/29/22	BALDIS	OUDDOOD	REPAIR TRAFFIC BOX	@ BUENA VISTA / F	\$43.5314 \$43.5344	12	\$65.2971	\$522.3768	10/29/2022
				O TAIOIA/E	\$43.5314	6	\$65.2971	\$391.7826	10/29/2022

OVERTIME	WEEK	ENDING
Can a special of 11 11 11 11 11 11 11 11 11 11 11 11 11	AAFFI	

10/29/2022

DATE	NAME	DIVIDIO.		Printed 11/2/2022				Mon	thly
10/20/20		DIVISIO	N Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
10/28/22	BAROWN	PATROL	PATROL - DAYS		\$53.1781	8	\$79.7672	\$638.1372	
10/29/22	BELONICK	PATROL	PATROL - DAYS		\$36.1598				10/29/2022
10/29/22	GAUDETTE	PATROL	PATROL - MIDS				\$54.2397	\$433.9176	10/29/2022
10/28/22	GELORMINO	DETECTIV	E 22-33698 FRAUD N	ICW/ HARDON III	\$35.1058		\$52.6587	\$421.2696	10/29/2022
10/26/22	GONZALEZ	ADMIN			\$40.6330	13.5	\$60.9495	\$822.8183	10/29/2022
10/28/22	GONZALEZ		GRANT/ACCREDIT	ATION WORK	\$53.1781	2	\$79.7672	\$159.5343	10/29/2022
		ADMIN	PATROL - EVES		\$53.1781	8	\$79.7672	\$638.1372	10/29/2022
10/29/22	GONZALEZ	ADMIN	PATROL - EVES		\$53.1781	8	\$79.7672		
10/29/22	GUIDA	PATROL	PATROL - MIDS		\$40.6330	8.5		\$638.1372	10/29/2022
10/28/22	MAIGA	TRAINING	DOR REVIEW JRUI	B/KRIC	- 4		\$60.9495	\$518.0708	10/29/2022
10/29/22	MUMM	ADMIN	DRUG TAKE BACK		\$43.5314	1	\$65.2971	\$65.2971	10/29/2022
10/29/22	POWELL	PATROL			\$38.6684	8	\$58.0026	\$464.0208	10/29/2022
10/29/22	SULTAIRE	PATROL	PATROL - DAYS		\$35.1058	8	\$52.6587	\$421.2696	10/29/2022
10/29/22			PATROL - DAYS		\$43.5314	8	\$65.2971	\$522.3768	10/29/2022
	D'AUTORIO	PATROL	PATROL - MIDS - O	IC RATE	\$48.2916	8	\$72.4374	\$579.4992	
10/28/22	KELLY	FINANCIAL	COMM OUTREACH	OPIATE GRANT 22-39067	\$43.5314	4			10/29/2022
10/26/22	GALLAGHER	SERT	SRT TRAINING				\$65.2971	\$261.1884	10/29/2022
					\$38.6684	8	\$58.0026	\$464.0208	10/29/2022
						TOTAL HR 1396.25	S	TOTAL \$87,356.9582	



City of Torrington

Department of Police Services





Board of Safety Report - December 2022 Statistics for October 2022

	Calls for	<u>Service</u>		Administrative Calls	
Motor Vehicle Accidents	67	Assist Other Agencies	48	Follow Up Investigations	170
Robbery	1	Civilian Requests	151	Fleet Maintenance	24
Larceny	37	Harassment / Harrassing Calls	16	Report Writing	62
Burglary	3	Traffic Offense	483	Extra Patrols	512
Distrubance / Disorderly Conduct	20	Warrant Arrests / Attempts	47	Park and Walk	640
Mentally Unstable / Protective Custody	38	Suspicious Circumstances / Persons/Vehicles	165	Traffic Enforcement	118
Assaults	11			Radar Monitoring	104
Ambulance Assists	26	Hangers / Trespassing	7	Total:	1630
Unwanted Person	32	Disabled Vehicle	29		
Suicide Attempt	1	Neighbor/Tenant - Landlord Disputes	25		
Alarms	104	Threatening	12		
Aldillis	104	Vandalism	10		
Problem 911	96				
Non Violent Family Disputes	32	Drug Violations	1		
Sex Assault	1	DWI	1		
		Noise Complaint	37		
Offense Against Child	4	Mining P			
Motor Vehicle Theft	. 2	Missing Persons	4		
Total:	475	Domestic Disturbance / Intimidation	12		
			4040		

1048

Total:

Chief's Monthly Report: Records Bureau

Report for the month of: November Year: 2022
Cases Filed: 957 Requests for reports: 123
Registered Sex Offenders: 96 Observer Applicants: 0
Requests from Parole and Corrections: 17 Criminal Record Checks: 28
Vendor Permits Issued: 0 DCF Requests: 24
Grant Overtime
Narcotics: \$ Community Enhancement Grant: \$ 628.48
D.U.I. \$ 2209.77 Internet Crimes Against Children Grant \$
Underage Drinking: \$ Violence ReductionGrant \$
Blockwatch Grant: \$
Youth & Police Grant: \$ <u>Dare Overtime: \$</u>
Items of Note:
123 INCOMING REQUESTS TOTAL 13 REQUESTS FROM COURT BODYCAM/REPORTS/BACKGROUND CHECKS 24 REQUESTS FROM DCF 7 REQUESTS FROM BOPP 10 REQUESTS FROM PROBATION 4 REQUESTS FROM OTHER POLICE DEPTS 2 REQUESTS FROM OTHER GOVN./MUNIC AGENCY 23 REQUESTS FROM LEXIS NEXIS (PR1/MV THEFT) 4 REQUESTS FROM METRO (PR1/MV THEFT) 36 REQUESTS FROM ATTORNYS, INSURANCE, PUBLIC, ETC.
147 REPORTS REDACTED AND DISSEMINATED IN NOVEMBER 2022 3 REQUESTS FOR BODYCAM, PHOTOS, 911 CALL, ETC FORWARD TO SGT FOR PROCESSING
93 COMPLETED REQUESTS IN NOVEMBER 2022
15 INCOMING PISTOL PERMIT APPLICATIONS TAKEN 11 TEMP PISTOL PERMITS ISSUED 0 DENIED PISTOL PERMIT APP 0 BINGO PERMIT ISSUED

Chief's Monthly Report

Traffic Division

Month of:

November

TRAFFIC	Traffic Surveys/Inspections/Complaints 6 Traffic/Speed Counts
PARKING TICKETS	Parking Tickets (Police) 140 Parking Tickets (Traffic) Ordinance Tickets (Police) Ordinance Tickets (Traffic) Handicap Parking Tickets Issued Fire Lane Parking Tickets Issued Overnight Parking Tickets Issued \$10,652.24 Monies Collected from Parking Tickets, Reports, Permits, Etc. 9979 Unpaid Tickets to Date \$361,811.01 Unpaid Fines to Date Delinquent Notices Sent During Month 8 Boot Letters Sent During Month \$6,750.47 Monies Collected From Meters \$17,402.71 Total Monthly Collections Warning Tickets (Police) Warning Ti
MV ACCIDENTS	75 Motor Vehicle Accidents Investigated 10 Motor Vehicle Accidents Involving Injuries 10 Total Persons Injured In Motor Vehicle Accidents 0 Motor Vehicle Accidents Involving Fatalities 0 Total Fatalities
TRAFFIC VIOLATIONS	O School Bus Violations Driving While Intoxicated Violations 89 Stop Sign Violations 104 Speed Monitoring Locations 126 Speeding Violations Traffic Signal Violations 486 Total Traffic Violations 118 Traffic Enforcement Locations O Commercial Vehicle Inspections 0 Violations Found 0 OOS
MAINTENANCE	20 Traffic Signals Requiring Repair/Maintenance 23 Traffic Signs Requiring Repair/Maintenance 0 Roadway Markings Requiring Maintenance 45 Meters Requiring Repair/Maintenance
TIME	52.5 Employee Hours Lost Due to Earned Time 10 Employee Hours Lost Due to Sick Time



Chief 's Monthly Report: DETECTIVE DIVISION

Report for the month of: November Year: 2022
New Cases: 44
Cases closed by arrest: 5 Cases closed no arrest: 31
Active cases on file: 64
Arrest Warrants Applied For: 4 Arrest Warrants Served: 2
Schools Attended and by whom:
OSEG - 3 days of Crime Scene Procedure, 1 day Finding Words Booster, 1 day CIT MGEL - 1 day Use of Force, 1 day Finding Words Booster D/TFAD - 1 day Firearms KTIE -1 day Use of Force, 1 day Finding Words Booster S/MGIO - 1 day Montly SERT Training, 2 days Firearms Instructor S/KJOH - 1 day Montly SERT Training Attached pages detail all activity, broken down by incident type, for the Detective Bureau throughout the course of the month. # of attached pages: 6
Items of Note:

Detective Division November 2022 New Case Report

7	-	4	-	7		_			-		-
Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:
က	-			•	-		7	-		-	-
Open:	Open:	Open:	Open:	Open:	Open:	Open:	Open:	Open:	Open:	Open:	Open:
5	7	4	-	က	-	-	7	-	-	-	7
Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:	Total:
Offense Against Child	Weapon Ineligibility	Applicant Background	Language Translation	Cell Phone Exam	Sexual Assault With Force	Assault Simple	Arson	Assist Fire Dept	Harassment	Larceny Purse-snatch	Larceny All Other

<u>.</u>	<u></u>	2	-	_	<u>.</u>	<u>.</u>
Closed:	Closed:	Closed:	Closed:	Closed:	Closed:	Closed:
	က	4	-	2	-	1
Open:	Open:	Open:	Open:	Open:	Open:	Open:
-	က	9	7	9	-	-
Total:	Total:	Total:	Total:	Total:	Total:	Total:
Missing Person - located	Fraud False Pretenses	Suspicious Circumstances	Sexual Assault (Statutory)	Untimely Death	Suicide	Officer Injured

Closed:

56

Open:

44

Total

Total Arrest:

Detective Division November 2022 Closed Case Report

014	Offense Against Child	Total:	4	Open:	Closed:	4
690	Weapon Ineligibility	Total:	-	Open:	Closed:	-
4111	Registry Compliance	Total:	4	Open:	Closed:	4
1117	Applicant Background	Total:	4	Open:	Closed:	4
1139	Language Translation	Total:	-	Open:	Closed:	-
1142	Cell Phone Exam	Total:	2	Open:	Closed:	2
13B	Assault Simple	Total:	-	Open:	Closed:	-
212	Civilian Request	Total:	-	Open:	Closed:	-
232	Harassment	Total:	-	Open:	Closed:	-
23H	Larceny All Other	Total:	_	Open:	Closed:	_
26A	Fraud False Pretenses	Total:	_	Open:	Closed:	-
281	Suspicious Circumstances	Total:	9	Open:	Closed:	9

-	ß
Closed:	Closed:
Open:	Open:
_	2
Total:	Total:
Sexual Assault (Statutory)	Untimely Death
36B	410

36

Closed:

Open:

36

Total

2

Total Arrest:

Detective Division November 2022 Open Case Report

014 Offense Ag 018 Protective 018A Untimely D 069 Weapon In 1114 Registry C 1142 Cell Phone 11A Sexual Ass 11D SexAssaul 120 Robbery 200 Arson	gainst Child Total: 6 Open: 6 Closed:	Custody Total: 1 Open: 1 Closed:	Death Total: 1 Open: 1 Closed:	eft Total: 3 Open: 3 Closed:	religibility Total: 1 Open: 1 Closed:	ompliance Total: 1 Open: 1 Closed:	Exam Total: 1 Open: 1 Closed:	sault With Force Total: 1 Open: 1 Closed:	t Forcible Contact Total: 1 Open: 1 Closed:	Total: 1 Open: 1 Closed:	Total: 2 Open: 2 Closed:	
4 + ~	Offense Against Child	Protective Custody	Untimely Death	Identity Theft	Weapon Ineligibility	Registry Compliance	Cell Phone Exam	Sexual Assault With Force	SexAssault Forcible Contact	Robbery	Arson	

220	Burglary	Total:	7	Open:	7	Closed:
23B	Larceny Purse-snatch	Total:	7	Open:	7	Closed:
23G	Larceny Theft of MV Parts	Total:	က	Open:	က	Closed:
23H	Larceny All Other	Total:	-	Open:	-	Closed:
240	MV Theft	Total:	-	Open:	-	Closed:
250	Counter/Forgery	Total:	-	Open:	-	Closed:
26A	Fraud False Pretenses	Total:	5	Open:	2	Closed:
26B	Fraud Credit Card/ATM	Total:	-	Open:	-	Closed:
281	Suspicious Circumstances	Total:	©	Open:	∞	Closed:
35A	Drug/Narcotic Violation	Total:	-	Open:	-	Closed:
35C	Drug/Narcotic Info	Total:	-	Open:	-	Closed:
36B	Sexual Assault (Statutory)	Total:	-	Open:	-	Closed:

14 Closed:	Closed:	Closed:	Closed:	64 Closed:
4	-	-	-	49
14 Open:	Open:	Open:	Open:	Total 64 Open:
4	-	-	-	64
Total:	Total:	Total:	Total:	Total
				0
Untimely Death	Suicide	Officer Injured	Bad Checks	Total Arrest:
410	144	029	90A	

Total 64 Open:

Nov. OT

OVERTIME WEEK ENDING

10/29/2022 January BPS Monthly

-				Printed 12/6/2022			,	INIOII	ully
DATE		DIVISIO	N Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
11/27/22	DOS SANTOS	PATROL	22-2507, 22-275839	SEARCH WARRANT TO	\$36.1598	2	\$54.2397	\$108.4794	10/29/2022
11/27/22	ZAMBETTI	PATROL		SEARCH WARRANT TO	\$35.1058	2	\$52.6587	\$105.3174	10/29/2022
11/2/22	BROUILLARD	PATROL	22-39679 THS 219	22-38203 ISSUES WITH 27		1	\$72.4374	\$72.4374	11/05/2022
11/1/22	BUZZI	PATROL	22-39553 PROT OR	RD VIO	\$35.1058	2	\$52.6587	\$105.3174	11/05/2022
11/1/22	CONNOLLY	PATROL	22-39500 CHH W/ P	RISONER OR MEDS	\$38.6684	.50	\$58.0026	\$29.0013	11/05/2022
11/1/22	FOLEY	ADMIN		ER SCHOOL PROGRAM @	\$38.6684	3	\$58.0026	\$174.0078	11/05/2022
11/1/22	FOX	PATROL	22-39601 FVO REP		\$38.6684	1.5	\$58.0026	\$87.0039	
11/1/22	KRZANOWSKI	TRAINING	22-35490 APPLICA	NT BACKGROUND	\$48.2916	1.5	\$72.4374	\$108.6561	11/05/2022
11/1/22	LETTIERI	TRAINING		OR SIG 320 ON RDO	\$43.5314	8	\$65.2971	\$522.3768	11/05/2022
11/1/22	LOUCKS	TRAINING		COTICS IN SERVICE	\$38.6684	8	\$58.0026		11/05/2022
11/1/22	LOUCKS	TRAINING			\$38.6684	7.5		\$464.0208	11/05/2022
11/1/22	ROULEAU	SUPPORT		N ORDERS WITH BBAR	\$48.2916		\$58.0026	\$435.0195	11/05/2022
11/1/22	STEPP	PATROL	22-39555 FVO REPO		\$35.1058	2.5	\$72.4374	\$181.0935	11/05/2022
11/1/22	KRZANOWSKI	TRAINING	USE OF FORCE TRI		\$48.2916	1.5	\$52.6587	\$78.9881	11/05/2022
11/1/22	D'AUTORIO	TRAINING	USE OF FORCE TRI		\$43.5314	4	\$72.4374	\$289.7496	11/05/2022
11/1/22	GONSKA	TRAINING	USE OF FORCE TR		\$43.5314 \$43.5314	8	\$65.2971	\$522.3768	11/05/2022
11/1/22	FADOR	TRAINING	USE OF FORCE TRI		\$40.6330	4	\$65.2971	\$261.1884	11/05/2022
11/1/22	GALLGHER	TRAINING	USE OF FORCE TRI			3	\$60.9495	\$182.8485	11/05/2022
11/1/22	TOLEDO	TRAINING	USE OF FORCE TRN		\$38.6684	4	\$58.0026	\$232.0104	11/05/2022
11/1/22	FAY	TRAINING	USE OF FORCE TRA		\$38.6684	4	\$58.0026	\$232.0104	11/05/2022
11/1/22	POWELL	TRAINING	USE OF FORCE TRA		\$36.1598	3.5	\$54.2397	\$189.8390	11/05/2022
11/1/22	STEPP	TRAINING	USE OF FORCE TRN		\$35.1058	3.5	\$52.6587	\$184.3055	11/05/2022
11/3/22	DOS SANTOS	TRAINING	USE OF FORCE TRN		\$35.1058	4	\$52.6587	\$210.6348	11/05/2022
11/3/22	ZAMBETTI	TRAINING	USE OF FORCE TRN	O INOTHIOTOTO	\$36.1598	4	\$54.2397	\$216.9588	11/05/2022
11/3/22	CURTIN	TRAINING	USE OF FORCE TRN	0.010==	\$35.1058	4	\$52.6587	\$210.6348	11/05/2022
11/3/22	RICHARD	TRAINING	USE OF FORCE TRN	0.1110===-	\$38.6684	4	\$58.0026	\$232.0104	11/05/2022
11/4/22	JOHNSON B	TRAINING	FBI ACADEMY ON RI	86	\$38.6684	4	\$58.0026	\$232.0104	11/05/2022
11/3/22	BELONICK		USE OF FORCE TRN		\$48.2916	8	\$72.4374	\$579.4992	11/05/2022
	7.73		OUL OF FURCE IRN	G	\$36.1598	3.5	\$54.2397	\$189.8390	11/05/2022

0	V	ER	TI	ME	WEE	KEN	IDING
				en et monte	the first though thems	1 /A (boss 1)	E / B B B B C 28

11/05/2022

			OVERVI	MIL WEEK ENDING	11/05/2	2022			41.1.
DATE	NAME	DIVISIO	N Assignment	Printed 12/6/2022 Printed by Michele				Mor	nthly
11/3/22	GUIDA	TRAINING	1.00.9		RATE	OT HR	S OT RATE	TOTAL OT	WEEK ENDING
11/3/22	GAUDETTE	TRAINING	SOE OF TORCE		\$40.6330		\$60.9495	\$182.8485	11/05/2022
11/3/22	BLASIAK	PATROL			\$35.1058	3.5	\$52.6587	\$184.3055	11/05/2022
11/3/22	BRENNAN	PATROL		TIC JV ARREST/22-39915 P		1	\$58.0026	\$58.0026	11/05/2022
11/2/22	SEGUI	TRAINING	CRIME SCENE TR	TIC JV ARREST/22-39915 P	C \$38.6684	1	\$58.0026	\$58.0026	11/05/2022
11/3/22	SEGUI	TRAINING	CRIME SCENE TR		\$40.6330	2	\$60.9495	\$121.8990	11/05/2022
11/4/22	BALDIS	TRAINING	STEP PEDESTRIA		\$40.6330	3	\$60.9495	\$182.8485	11/05/2022
11/5/22	BRENNAN	PATROL			\$43.5314	4	\$65.2971	\$261.1884	11/05/2022
11/5/22	BUZZI	PATROL	PATROL - DAYS	ANCE WITH DCF REFERRA		.50	\$58.0026	\$29.0013	11/05/2022
11/5/22	CONNOLLY	PATROL	22-40118 LARCEN	V EDOM MAY	\$35.1058	8	\$52.6587	\$421.2696	11/05/2022
11/5/22	DOS SANTOS	PATROL	22-40118 SUPP/EV		\$38.6684	2	\$58.0026	\$116.0052	11/05/2022
11/5/22	GONSKA	PATROL	PATROL - MIDS	IDENCE	\$36.1598	3	\$54.2397	\$162.7191	11/05/2022
11/4/22	GONZALEZ	PATROL	PATROL - EVES		\$43.5314	8.5	\$65.2971	\$555.0254	11/05/2022
11/5/22	GONZALEZ	DATROL	PATROL - DAYS		\$53.1781	8	\$79.7672	\$638.1372	11/05/2022
11/5/22	GONZALEZ	DATEC	PATROL - EVES		\$53.1781	8.5	\$79.7672	\$678.0208	11/05/2022
11/5/22	GUIDA	DATROL	PATROL - DAYS		\$53.1781	8	\$79.7672	\$638.1372	11/05/2022
11/5/22	GUIDA	DATE	PATROL - EVES		\$40.6330	8.5	\$60.9495	\$518.0708	11/05/2022
11/5/22	KISIEL	DATROL	22-40170		\$40.6330	8	\$60.9495	\$487.5960	11/05/2022
11/2/22	KRZANOWSKI	DATROL	2 1 1 1 1 2 1 2	POUND OF STREET	\$36.1598	1	\$54.2397	\$54.2397	11/05/2022
11/4/22	KRZANOWSKI	DATDAL	A 22-38/USE OF FO	GROUND 22-35490/UOF	\$48.2916	3	\$72.4374	\$217.3122	11/05/2022
11/5/22	LETTIERI	DATDOL	22-40118 MV BURG		\$48.2916	1.5	\$72.4374	\$108.6561	11/05/2022
11/2/22	LOUCKS	TDAINING			\$43.5314	1.5	\$65.2971	\$97.9457	11/05/2022
11/3/22	PRISTINA	TO A IR III CO	JSE OF FORCE TRA	RCOTICS IN SERVICE	\$38.6684	8	\$58.0026	\$464.0208	11/05/2022
11/4/22	RUBINO	DATE	2-39988 STOLEN M		\$35.1058	4	\$52.6587	\$210.6348	11/05/2022
11/5/22	RUBINO	DATROL	2-40118 EVIDENCE		\$32.6194	1.5	\$48.9291	\$73.3937	11/05/2022
11/4/22	SIMPSON	DATEM	ATROL - EVES	PROCESSING	\$32.6194	2.5	\$48.9291	\$122.3228	11/05/2022
11/4/22	YABROSKY	A DB GIA I		CARRELLA LITTLE DE	\$38.6684	8	\$58.0026	\$464.0208	11/05/2022
11/4/22	FAY			DMMUNITY RELATIONS	\$38.6684	2	\$58.0026	\$116.0052	11/05/2022
1		No. 1	AOMMANIA	TY OUTREACH GRANT	\$36.1598	.50	\$54.2397	\$27.1199	11/05/2022

OVERTIME V	/EEK	FNDING
-------------------	------	--------

11/05/2022

DATE	MARGE			Printed 12/6/2022				Mon	thly
DATE		DIVISION	3	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
11/4/22	KELLY	FINANCIAL	COMMUNITY OUT	REACH GRANT IPIS SITE	\$43.5314	2	\$65.2971	\$130.5942	11/05/2022
11/5/22	SOUTHARD	PATROL	PATROL - MIDS - C	DIC RATE	\$48.2916	9.5	\$72.4374	\$688.1553	11/05/2022
11/7/22	BALDIS	PATROL	PATROL - EVES		\$43.5314	8.5	\$65.2971	\$555.0254	11/12/2022
11/6/22	BELONICK	PATROL	PATROL - MIDS		\$36.1598	9	\$54.2397	\$488.1573	11/12/2022
11/9/22	BELONICK	PATROL	PATROL - EVES		\$36.1598	8.5	\$54.2397	\$461.0375	11/12/2022
11/9/22	BELONICK	PATROL	22-40740 UNTIMEL	Υ	\$36.1598	1	\$54.2397	\$54.2397	11/12/2022
11/8/22	BLASIAK	PATROL	22-40575 MISSING	JUV RETURNED HOME	\$38.6684	1.5	\$58.0026	\$87.0039	11/12/2022
11/10/22	CURTIN	PATROL	22-40740 UNTIMELI	_Y	\$38.6684	1	\$58.0026	\$58.0026	11/12/2022
11/9/22	FADOR	DETECTIVE	22-40740 UNTIMELY	CALL IN	\$40.6330	5	\$60.9495	\$304.7475	11/12/2022
11/6/22	GALLAGHER	PATROL	DAY LIGHTS SAVIN		\$38.6684	1	\$58.0026	\$58.0026	11/12/2022
11/9/22	GALLAGHER	PATROL	RANDOM DRUG TE	ST	\$38.6684	1	\$58.0026	\$58.0026	11/12/2022
11/6/22	GONSKA	PATROL	DAYLIGHT SAVING	S	\$43.5314	1	\$65.2971	\$65.2971	11/12/2022
11/6/22	GONZALEZ	PATROL	PATROL - DAYS		\$53.1781	8	\$79.7672		
11/10/22	GUIDA	DETECTIVE	22-40740 UNTIMELY		\$40.6330	4	\$60.9495	\$638.1372	11/12/2022
11/7/22	JOHNSON K	A PARALAL		BACKGROUND JOSEPH	\$48.2916	2.5	\$72.4374	\$243.7980	11/12/2022
11/7/22	KELLY	77 F3 A 15 115 1 4	DV INSTRUCTOR W		\$43.5314	4	\$65.2971	\$181.0935	11/12/2022
11/8/22	KELLY		BWC/AXON TRNG W		\$43.5314	8		\$261.1884	11/12/2022
11/6/22	RICHARD	DATEC	DAYLIGHT SAVINGS		\$38.6684	1	\$65.2971	\$522.3768	11/12/2022
11/7/22	RICKEVICIUS	PATROL	22-30438 DUI		\$32.6194		\$58.0026	\$58.0026	11/12/2022
11/6/22	ROULEAU	PATROL I	PATROL - EVES		\$48.2916	1	\$48.9291	\$48.9291	11/12/2022
11/6/22	SABIS	D.4	DAYLIGHT SAVINGS			8	\$72.4374	\$579.4992	11/12/2022
11/6/22	STEPP	DATEC	PATROL - MIDS	*	\$38.6684	1	\$58.0026	\$58.0026	11/12/2022
11/6/22	TOLEDO	DATROL	PATROL - DAYS		\$35.1058	9	\$52.6587	\$473.9283	11/12/2022
11/6/22	SOUTHARD	DATDOL	PATROL - MIDS		\$38.6684	9.5	\$58.0026	\$551.0247	11/12/2022
11/6/22	MAIGA	DATEC	PATROL - MIDS		\$43.5314	5	\$65.2971	\$326.4855	11/12/2022
11/3/22	BARANOWSKI	DETECTIVE S			\$43.5314	4	\$65.2971	\$261.1884	11/12/2022
11/9/22	CONNOLLY	A DA ALL	RANDOM DRUG SCR	EENING	\$38.6684		\$58.0026	\$406.0182	11/12/2022
11/12/22	GUIDA			US CIRCUMSTANCE	\$38.6684	1	\$58.0026	\$58.0026	11/12/2022
		_	- 1002 - 303FIC[0]	US CIRCUMS I ANCE	\$40.6330	8	\$60.9495	\$487.5960	11/12/2022

OV	ER	TIME	WEEK	ENDING
-		n nite a time	a a gram gram il f	

11/12/2022

				OVERI	IME WEEK ENDING	11/12/2	022			
DATE	NAME	DIVISI	ON	Assignment	Printed 12/6/2022 Printed by Michele	FD. A MACON			Mo	nthly
11/12/22	TIEMAN	DETECT	IVE 2		CIOUS CIRCUMSTANCE	RATE	OT HR	S OT RATE	TOTAL OT	WEEK ENDING
11/12/22	GUIDA	PATROL		PATROL - EVES	SIOUS CIRCUMS I ANCE	\$43.5314	8	\$65.2971	\$522.3768	11/12/2022
11/9/22	KRZANOWSKI	PATROL			55 USE OF FORCE	\$40.6330	8.5	\$60.9495	\$518.0708	11/12/2022
11/11/22	KRZANOWSKI	TRAINING	_		KGROUND 22-35490	\$48.2916	2	\$72.4374	\$144.8748	11/12/2022
11/11/22	KRZANOWSKI	PATROL		ATROL - EVES	NGROUND 22-35490	\$48.2916	1.5	\$72.4374	\$108.6561	11/12/2022
11/12/22	KRZANOWSKI	TRAINING	_		ROUND INVESTIGATION	\$48.2916	8.5	\$72.4374	\$615.7179	11/12/2022
11/12/22	RICHARD	PATROL		2-41020 FVO ARF		\$48.2916	6	\$72.4374	\$434.6244	11/12/2022
11/11/22	ROULEAU	PATROL		ATROL - EVES	NE3 I	\$38.6684	2	\$58.0026	\$116.0052	11/12/2022
11/12/22	ROULEAU	SUPPORT	_	023 ACCREDITAT	TION WILL CON	\$48.2916	8	\$72.4374	\$579.4992	11/12/2022
11/12/22	WITYAK	PATROL		ATROL - MIDS	I IOM W/ LGOM	\$48.2916	3	\$72.4374	\$217.3122	11/12/2022
11/12/22	WITYAK	PATROL		ATROL - EVES		\$48.2916	8	\$72.4374	\$579.4992	11/12/2022
11/12/22	STEVENS	FINANCIA		JI GRANT		\$48.2916	8	\$72.4374	\$579.4992	11/12/2022
11/11/22	D'AUTORIO	FINANCIA				\$38.6684	8	\$58.0026	\$464.0208	11/12/2022
11/10/22	GAUDETTE			EAR OPIOID RE	CDOMOT TEABL	\$43.5314	8	\$65.2971	\$522.3768	11/12/2022
11/15/22	ABELING	PATROL		-41272 RISK ORD		\$35.1058	1.5	\$52.6587	\$78.9881	11/12/2022
11/15/22	BALDIS	SUPPORT			& TRAFFIC COMPL F/U	\$38.6684	1.5	\$58.0026	\$87.0039	11/19/2022
11/17/22	BALDIS	SUPPORT			NG MTG FOR NEW SAMS	\$43.5314	3.5	\$65.2971	\$228.5399	11/19/2022
11/13/22	BELONICK	PATROL		TROL - MIDS	NO WIG FOR NEW SAMS	\$43.5314	2	\$65.2971	\$130.5942	11/19/2022
11/13/22	BUZZI	PATROL		TROL - DAYS		\$36.1598	8	\$54.2397	\$433.9176	11/19/2022
11/19/22	BUZZI	PATROL		TROL - DAYS		\$35.1058	8	\$52.6587	\$421.2696	11/19/2022
11/15/22	CASTILLA	PATROL		41126 MISSING F	DEDCON CIT	\$35.1058	8	\$52.6587	\$421.2696	11/19/2022
11/16/22	CONNOLLY	PATROL			REPORT WRITING	\$35.1058	.50	\$52.6587	\$26.3294	11/19/2022
11/14/22	CURTIN	PATROL		TROL - MIDS	REPORT WRITING	\$38.6684	1.5	\$58.0026	\$87.0039	11/19/2022
11/15/22	CURTIN	PATROL		ROL - MIDS		\$38.6684	8	\$58.0026	\$464.0208	11/19/2022
11/18/22	D'AUTORIO	PATROL		ROL - EVES		\$38.6684	8	\$58.0026	\$464.0208	11/19/2022
11/19/22	D'AUTORIO	PATROL		ROL - EVES		\$43.5314	8	\$65.2971	\$522.3768	11/19/2022
11/17/22	DAVIES	PATROL		ROL - EVES		\$43.5314	.50	\$65.2971	\$32.6486	11/19/2022
11/17/22	FADOR	DETECTIVE			22-34688, 22-41603	\$38.6684	8.5	\$58.0026	\$493.0221	11/19/2022
ġ.				,	44-54000 , 42-41603	\$40.6330	4	\$60.9495	\$243.7980	11/19/2022
A										

OVERTIME WEEK ENDING	7
----------------------	---

11/19/2022

DATE	NAME	DIVIDIO	Printed 12/6/2022				Mon	thly
11/15/22	FAULKNER	DIVISION	3	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
11/18/22	FOLEY	PATROL	BIGHT HAMMING KI	\$43.5314	1	\$65.2971	\$65.2971	11/19/2022
11/13/22	GAUDETTE	PATROL	22-41859 P.C. MIDDLE SCHOOL	\$38.6684	3.5	\$58.0026	\$203.0091	11/19/2022
11/19/22	GAUDETTE	PATROL	PATROL - MIDS	\$35.1058	8	\$52.6587	\$421.2696	11/19/2022
11/15/22			PATROL - MIDS	\$35.1058	8	\$52.6587	\$421.2696	11/19/2022
11/19/22	GELORMINO	DETECTIV	E 22-41272 SEARCH WARRANT/RISK WARR	ANT \$40.6330	2	\$60.9495	\$121.8990	11/19/2022
11/19/22	GONSKA	PATROL	PATROL - MIDS	\$43.5314	8.5	\$65.2971	\$555.0254	11/19/2022
11/17/22	GONZALEZ	PATROL	PATROL - EVES - Acting Chief	\$53.1781	8	\$79.7672	\$638.1372	11/19/2022
11/18/22	GUIDA		22-41620 ARREST	\$40.6330	3.5	\$60.9495	\$213.3233	11/19/2022
11/19/22	GUIDA	PATROL	PRISONER WATCH	\$40.6330	8.5	\$60.9495	\$518.0708	11/19/2022
11/13/22	GUIDA	PATROL	PATROL - DAYS	\$40.6330	8.5	\$60.9495	\$518.0708	11/19/2022
11/15/22	HUBBARD	PATROL	PATROL - MIDS	\$35.1058	8	\$52.6587	\$421.2696	11/19/2022
	JOHNSON K	TRAINING	DRONE TRNG RI	\$48.2916	1	\$72.4374	\$72.4374	11/19/2022
11/19/22	JOHNSON K	DETECTIVE	22-41983 UNTIMELY DEATH DB CALL OUT	\$48.2916	8	\$72.4374	\$579.4992	11/19/2022
11/14/22	KELLY	TRAINING	FVO WEST HTFD INSTRUCTOR	\$43.5314	4	\$65.2971	\$261.1884	11/19/2022
11/18/22	KELLY	TRAINING	PATROL - DAYS	\$43.5314	8	\$65.2971	\$522.3768	11/19/2022
11/13/22	KISIEL	PATROL	PATROL - MIDS	\$36.1598	8	\$54.2397	\$433.9176	11/19/2022
11/13/22	KRZANOWSKI	PATROL	PATROL - DAYS	\$48.2916	8	\$72.4374	\$579.4992	11/19/2022
11/13/22	KRZANOWSKI		PATROL - EVES	\$48.2916	8	\$72.4374	\$579.4992	11/19/2022
11/14/22	KRZANOWSKI		22-35490 BACKGROUND INVESTIGATION	\$48.2916	2.5	\$72.4374	\$181.0935	11/19/2022
11/18/22	KRZANOWSKI		22-39555 USE OF FORCE	\$48.2916	1.5	\$72.4374	\$108.6561	11/19/2022
11/8/22	LOUCKS		WEST HARTFORD INSTRUCTOR	\$38.6684	8	\$58.0026	\$464.0208	11/19/2022
11/16/22	MAIGA	TRAINING	ONLINE O.C. SPRAY INSTRUCTOR RECERT		4	\$65.2971	\$261.1884	11/19/2022
11/16/22	MORRELL	PATROL	22-41535 ARREST/REPORT WRITING	\$32.6194	1.5	\$48.9291	\$73.3937	24
11/19/22	MUMM	PATROL	PATROL - EVES	\$38.6684		\$58.0026	\$493.0221	11/19/2022
11/19/22	MUMM		SNIPER TRNG SRT	\$38.6684		\$58.0026		11/19/2022
11/14/22	ROULEAU	SUPPORT	BACKGROUND CHKS	\$48.2916		\$72.4374	\$348.0156	11/19/2022
11/15/22	ROULEAU	SUPPORT	POWER DMS FOR ACCREDITATION	\$48.2916		\$72.4374 \$72.4374	\$144.8748 \$444.8740	11/19/2022
11/19/22	ROULEAU	OUDDOD	PATROL - EVES	\$48.2916			\$144.8748	11/19/2022
W W W				V-10.2310	1.0	\$72.4374	\$543.2805	11/19/2022

OVERTIME WEEK ENDING	O	V	EF	T	IM	ΙE	WE	EEK	EN	DING	d d
----------------------	---	---	----	---	----	----	----	-----	----	------	-----

11/19/2022

			OVEIVI	MIE AVEEK ENDING	11/19/2	2022			
DATE	NAME	DIVISIO	N Assignment	Printed 12/6/2022 Printed by Michele	DATE	07.11			nthly
11/12/22	RUBINO	PATROL		H WARRANT, 22-39988 F/U	RATE	OT HE		TOTAL OT	WEEK ENDING
11/14/22	SEGUI	DETECTIV	E 22-40170 SEX AS	SAULT INTERVIEW			\$48.9291	\$195.7164	11/19/2022
11/13/22	WITYAK	PATROL	PATROL - MIDS	OVOCI HAIFIVAIEAA	\$40.6330		\$60.9495	\$182.8485	11/19/2022
11/18/22	WITYAK	PATROL	PATROL - MIDS		\$48.2916		\$72.4374	\$579.4992	11/19/2022
11/18/22	ZAMBETTI	PATROL	22-41759 PRISON	ER WATCH	\$48.2916		\$72.4374	\$579.4992	11/19/2022
11/18/22	JOHNSON B	TRAINING	FBI ACADEMY ON		\$35.1058	3	\$52.6587	\$157.9761	11/19/2022
11/18/22	SOUTHARD	PATROL	PATROL - MIDS -		\$48.2916	8	\$72.4374	\$579.4992	11/19/2022
11/17/22	KELLY	FINANCIAL		REACH OPIATE GRANT	\$48.2916	8.5	\$72.4374	\$615.7179	11/19/2022
11/19/22	KELLY	FINANCIAL	COMMUNITY OUT	REACH OPIATE GRANT	\$43.5314	2	\$65.2971	\$130.5942	11/19/2022
11/18/22	SIMPSON	FINANCIAL	DUI GRANT	TANGE OF AN	\$43.5314	4	\$65.2971	\$261.1884	11/19/2022
11/19/22	SEGUI		22-41983 UNTIMEL	YDEATH	\$38.6684	8	\$58.0026	\$464.0208	11/19/2022
11/21/22	BALDIS	PATROL	PATROL - EVES		\$40.6330	8	\$60.9495	\$487.5960	11/19/2022
11/25/22	BARANOWSKI	DETECTIVE	22-42647 INVESTIG	ATION	\$43.5314	8.5	\$65.2971	\$555.0254	11/26/2022
11/26/22	BARANOWSKI	DETECTIVE	22-42647 ARSON II	NVESTIGATION	\$38.6684	5	\$58.0026	\$290.0130	11/26/2022
11/20/22	BELONICK	PATROL	PATROL - MIDS	TO TO TO TO TO	\$38.6684	5.5	\$58.0026	\$319.0143	11/26/2022
11/26/22	BELONICK	PATROL	PATROL - DAYS		\$36.1598	8	\$54.2397	\$433.9176	11/26/2022
11/20/22	BUZZI	PATROL	PATROL - DAYS		\$36.1598	8	\$54.2397	\$433.9176	11/26/2022
11/22/22	CONNOLLY	DATE	FTO PAPERWORK	REPORTS	\$35.1058	8	\$52.6587	\$421.2696	11/26/2022
11/24/22	CONNOLLY	DATDO	22-42579 JUVENILE		\$38.6684	1	\$58.0026	\$58.0026	11/26/2022
11/26/22	CONNOLLY	DATROL	FTO PAPERWORK		\$38.6684	1	\$58.0026	\$58.0026	11/26/2022
11/21/22	DOS SANTOS	DATDO	PATROL - DAYS	11110	\$38.6684	1	\$58.0026	\$58.0026	11/26/2022
11/25/22	FADOR		22-42647 FIRE INVE	STIGATION	\$36.1598	8	\$54.2397	\$433.9176	11/26/2022
11/26/22	FADOR	DETECTIVE	22-42647 ARSON PA	ATROL	\$40.6330	6.5	\$60.9495	\$396.1718	11/26/2022
11/26/22	FADOR	DETECTIVE :	22-42849 UNTIMELY	CALL OUT	\$40.6330	5	\$60.9495	\$304.7475	11/26/2022
11/22/22	FOLEY	A FT B BIA B		DADVANCE PROGRAM	\$40.6330	8	\$60.9495	\$487.5960	11/26/2022
11/25/22	GIORDANO	DETECTIVE 2	22-42647 ARSON CA	ALL OUT ON PDO	\$38.6684	3.5	\$58.0026	\$203.0091	11/26/2022
11/26/22	GIORDANO	DETECTIVE 2	22-42849 UNTIMELY	CALL OUT ON RDO	\$43.5314	8	\$65.2971	\$522.3768	11/26/2022
11/20/22	GONZALEZ		PATROL - DAYS		\$43.5314	8	\$65.2971	\$522.3768	11/26/2022
					\$53.1781	8	\$79.7672	\$638.1372	11/26/2022
4									

0	V	E	R	T	IA	ΛE	W	E	EK	FN	ID	ING
App.	W	Chipping	11 0	8 1	11 11 11	F II Brown	品品	Bonn B	le II annual	Barre II V	الساة إلا	

11/26/2022

DATE	NAME	*	Printed 12/6/2022			Monthly		
	NAME	DIVISION	Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
11/21/22	KRZANOWSKI	PATROL	PATROL - DAYS	\$48.2916	8	\$72.4374	\$579.4992	11/26/2022
11/22/22	KRZANOWSKI	TRAINING	APPLICANT BACKGROUND 22-35490	\$48.2916	2.5	\$72.4374	\$181.0935	11/26/2022
11/22/22	LOUCKS	TRAINING	MONTHLY K9 TRNG	\$38.6684	8	\$58.0026	\$464.0208	11/26/2022
11/24/22	MORRELL	PATROL	22-42579 JUVENILE REPORT/ DCF REF	\$32.6194	1	\$48.9291	\$48.9291	11/26/2022
11/26/22	MORRELL	PATROL	PR-1 / FTO REPORTS	\$32.6194	1	\$48.9291	\$48.9291	11/26/2022
11/20/22	ROULEAU	PATROL	PATROL - EVES	\$48.2916	8	\$72.4374	\$579.4992	11/26/2022
11/22/22	ROULEAU	PATROL	PATROL - EVES	\$48.2916	8.5	\$72.4374	\$615.7179	11/26/2022
11/24/22	ROULEAU	PATROL	PATROL - EVES	\$48.2916	8.5	\$72.4374	\$615.7179	11/26/2022
11/23/22	RUBINO	PATROL	PATROL - DAYS	\$32.6194	8	\$48.9291	\$391.4328	11/26/2022
11/22/22	SIMPSON	PATROL	PATROL - EVES	\$38.6684	8	\$58.0026	\$464.0208	11/26/2022
11/26/22	SIMPSON	PATROL	PATROL - EVES	\$38.6684	5	\$58.0026	\$290.0130	11/26/2022
11/26/22	SOUTHARD	ADMIN	22-42763 PR-1/MEMO/EMAIL FOR CRUISER	\$43.5314	1	\$65.2971	\$65.2971	11/26/2022
11/26/22	STEVENS	PATROL	PATROL - DAYS	\$38.6684	8.5	\$58.0026	\$493.0221	11/26/2022
11/21/22	TOLEDO	PATROL	PATROL - DAYS	\$38.6684	8	\$58.0026	\$464.0208	
11/23/22	WITYAK	PATROL	PATROL - EVES	\$48.2916	8	\$72.4374		11/26/2022
11/25/22	WITYAK	PATROL	PATROL - EVES	\$48.2916	8	\$72.4374	\$579.4992	11/26/2022
11/26/22	ZAMBETTI	PATROL	PATROL - EVES	\$35.1058	4	\$52.6587	\$579.4992	11/26/2022
11/26/22	D'AUTORIO	PATROL	PATROL - EVES - OIC RATE	\$43.5314	8.5	\$65.2971	\$210.6348	11/26/2022
11/23/22	MAIGA	FINANCIAL	2023 FY CLICK IT OR TICKET CAMPAIGN	\$43.5314	8	\$65.2971	\$555.0254	11/26/2022
11/23/22	CURTIN	FINIANIOLAL	2023 FY CLICK IT OR TICKET CAMPAIGN	\$38.6684	7.5		\$522.3768	11/26/2022
11/23/22	BELONICK	F1010010101	COMPREHENSIVE DUI GRANT	\$36.1598	6	\$58.0026 \$54.3307	\$435.0195	11/26/2022
11/25/22	BELONICK	FINIANIGIA	COMPREHENSIVE DUI GRANT	\$36.1598	8	\$54.2397 \$54.2307	\$325.4382	11/26/2022
11/21/22	BELONICK	() I = [-]	SRT TRAINING	\$36.1598	- (-7 -1	\$54.2397	\$433.9176	11/26/2022
11/21/22	CONNOLLY	0	SRT TRAINING	\$38.6684	7.5	\$54.2397	\$406.7978	11/26/2022
11/21/22	GALLAGHER	OFF	SRT TRAINING		8	\$58.0026	\$464.0208	11/26/2022
11/21/22	LETTIERI	O lee lee e	SRT TRAINING	\$38.6684 \$43.5344	8	\$58.0026	\$464.0208	11/26/2022
11/21/22	LOUCKS		SRT TRAINING	\$43.5314		\$65.2971	\$522.3768	11/26/2022
11/25/22	JOHNSON K		22-42647, 22-42585, 22-425873 ARSON CASES	\$38.6684	8	\$58.0026	\$464.0208	11/26/2022
*		=	, TANK AT TECHNICASES	P48.2916	3	\$72.4374	\$217.3122	11/26/2022

OV	ER	TIME	WEEK	ENDING	
Ame in	ment ft A	H H H W W H House	WW L		

12/03/2022

2 卷			OALIVII	WE WEEK ENDING	12/03	/2022			
DATE	NAME	DIVISIO	N Assignment	Printed 12/6/2022 Printed by Michele	DATE				nthly
11/27/22	BELONICK	PATROL	PATROL - DAYS		RATE	OT HR:	S OT RAT	E TOTAL OT	WEEK ENDING
11/26/22	CURTIN	PATROL	PATROL - MIDS		\$36.159	-	\$54.2397	\$433.9176	12/03/2022
11/30/22	DELAY	TRAINING		LICTOR FOR PAGE	\$38.668	-	\$58.0026	\$464.0208	12/03/2022
11/27/22	FADOR	DETECTIV	E 22-42825 RISK WA	DDANT	\$43.5314	7	\$65.2971	\$261.1884	12/03/2022
11/27/22	FIFER	PATROL	PATROL - DAYS	MIXANI	\$40.6330		\$60.9495	\$487.5960	12/03/2022
11/29/22	FOLEY	ADMIN		ED ADVANCE AFTER	\$38.6684		\$58.0026	\$493.0221	12/03/2022
11/30/22	FOLEY	PATROL			\$38.6684		\$58.0026	\$203.0091	12/03/2022
11/29/22	GIORDANO	TRAINING	22-43299 281 @ MI		\$38.6684	2.5	\$58.0026	\$145.0065	12/03/2022
11/30/22	GIORDANO	TRAINING	WATERBURY ACA		\$43.5314		\$65.2971	\$65.2971	12/03/2022
11/30/22	GONSKA	TRAINING	WATERBURY ACA		\$43.5314	8	\$65.2971	\$522.3768	12/03/2022
11/28/22	GUIDA			L ARSON PREVENTION	\$43.5314	8	\$65.2971	\$522.3768	12/03/2022
11/30/22	GUIDA	PATROL	PATROL - MIDS	L ARSON PREVENTION	\$40.6330	8	\$60.9495	\$487.5960	12/03/2022
11/27/22	JOHNSON K	DETECTIVE	22-42825 RISK WAF	2D ANT	\$40.6330	9	\$60.9495	\$548.5455	12/03/2022
11/30/22	KELLY	my prop A 1 A 1 A 1 A 1	CNT WITH CSP	RANI	\$48.2916	8	\$72.4374	\$579.4992	12/03/2022
11/30/22	KRZANOWSKI	A D B GIA	iA 22-36, 22-38, UOF	- 00 00===	\$43.5314	8	\$65.2971	\$522.3768	12/03/2022
11/29/22	LETTIERI	TDAILING	WATERBURY ACAD		\$48.2916	2	\$72.4374	\$144.8748	12/03/2022
11/28/22	MAIGA	DATROL	PATROL - DAYS	PEMY FIREARMS	\$43.5314	8	\$65.2971	\$522.3768	12/03/2022
11/30/22	MCINTYRE	TDAME			\$43.5314	8.5	\$65.2971	\$555.0254	12/03/2022
11/28/22	ROULEAU	CHEROLE	FIREARMS CHANGE		\$38.6684	8	\$58.0026	\$464.0208	12/03/2022
11/29/22	ROULEAU	DATRO	PATROL - EVES	KGROUNDS 3 NEW HIRES	\$48.2916	2	\$72.4374	\$144.8748	12/03/2022
11/30/22	ROULEAU	OUDDOD		200000	\$48.2916	8.5	\$72.4374	\$615.7179	12/03/2022
11/27/22	SEGUI		ACCREDITATION PR 22-42583 DIRECTED	ROCESS	\$48.2916	2.5	\$72.4374	\$181.0935	12/03/2022
11/30/22	STEPP	DATOO			\$40.6330	8	\$60.9495	\$487.5960	12/03/2022
11/28/22	SULTAIRE	V and the best of	PATROL - DAYS	EAPONS / WARRANT	\$35.1058	1	\$52.6587	\$52.6587	12/03/2022
11/28/22	WITYAK	TDAMM	JOF SUMMIT		\$43.5314	8	\$65.2971	\$522.3768	12/03/2022
			DOF SOIMIMIT		\$48.2916	2	\$72.4374	\$144.8748	12/03/2022
151			· (2)			TOTAL HRS 1158.5	3	TOTAL \$72,696.8827	

Chief's Monthly Report: Animal Control Division

Report for the month of: November Year: 2022
Total Animal Control Calls: 69 Assist Other Agency: 1 Followup Investigations: 14 Torrington Calls: 14 Goshen Calls: 0 Litchfield Calls: 0 Total Tele-Service Calls: 16 Torrington Tele-Service: 16 Goshen Tele-Service: 0 Litchfield Tele-Service: 0 Calls Handled After Hours: 8 Calls Handled By Patrol Division: 20 Total Animal Bite Calls: 6 Torrington Bites: 6 Goshen Bites: 0 Litchfield Bites: 0 Infractions Issued: 0 Written Warnings: 2 Arrests: 0
Animals Impounded: Animals Redeemed to Owners: 10 Dead Deer: 1 Animals Placed in Adoption: 8 Dead Animals: 5 Transport Emergency Vet: Transport Regular Vet: 3 Other Special Activities this Month: